(PR

No.1
PRERB £ g By | ZPHE | EEH= " &
HPPE ¢ 150 HPPE (EFZ Ot FZE%) L=5.00m 150 x 32
BokKEMBZI |HPPE(EE) L=5.00m @150 N 2
HiVP  L=4.00m @150 y:N 1
EFRUR (F32) @ 150 X 45° & 1
ANBEE RYER) @ 150 X 45° & 2
ERERANEME (PXV) ® 150 x 45° & 1
ANBE(GEEER) ¢ 150 x 45° & 1
PCYaA b @150 1@ 1
vS¥aq vk @150 1@ 1
BRS—b W=150S m 167.4 166.0+1.4
HEFFZETL ¢ 150|— KBTS — LTI FH RUE ) @150 H 1
o= H=800 #H 1
Wk BT ESWF AR ISk GRUER) [ 150X ¢ 25 & 2
" 150 x ¢ 20 & 1
SKXT /LR (PPEF) 25 & 4 XEFEmRULE
" ¢ 20 & 2 XEFEmRULE
RUZFLUNRAT(158) 2BE ®25 m 20 2.0m#AER(1.0m x 244)
" ®20 m 15 1.5m#ER(1.5m X 1)
BRS—b W=150S m 20 2.0m#ER(1.0m X 144, 0.5m X 24)




(PR

No.2
BRIRA A FR Hig By | ZHE | EEHE & &
PPE ¢ 30, ¢ 25 [HiVP  L=4.00m 25 V. 1
BEKEMKRL |TS5RAVaqvb ® 20 & 1
HivV 7ok $20%x 25 & 1
SKXY 4k d25(V)x ¢ 30(P)| 1A 1 XRFMLUE
SKXV4ryk (PPE M) $30% ¢25 {& 1 XRFMLUE
SKXF—X (PPEH) $25% ¢ 25 1& 1 XRFMLE
HiT LR ¢ 25 & 3
BARS—b W=150S m 2133 2.0+50.0+159.8+1.5
HRERBEI 025 |FAMMLYH @25 H 1
Bhlvryk(EEER) ® 25 & 3
BRLAVryEERYER) ®25 {& 1
tuH=E H=800 #H 2
kBT RUZFLURAT(158) 2BE @25 m 1.0 1.0m#E%(1.0m x 144)
SKXT )L (PPEF) ®25 {& 2 XRFMLUE
BARS—b W=150S m 05 0.5m7E%(0.5m x 144)




FHE

No.1
PRERB £ g By | ZPHE | EEH= " &
HPPE ¢ 150 RUIFLUERHRT @150 m 166.0 150.0+16.0
BEKEMZI |RUIFLUOEHRFI (REES) $150 10#%F | B 33
E-— L EHH{T @150 m 14
RUIFLUEYRT ® 150 A 5
AN=AHNBFEITGRUER) ® 150 A 6
ANZHIMEITGEEER) @150 A 5
ANZAIBFI (BHER) ® 150 A 1
EHR—F m 167.4 166.0+1.4
BKEHERT HKELE B 0.08 167.4m/2,0008=0.08 H
HEBBEI 4 150|LURBET ® 150 e~ 1
AN=AHNBFEITGRUER) ® 150 A 2
REHRET H=800 #H 1
BHERE L5 1
HAKkOBET YRILADKBREEIRUER) 150 % ¢ 25 1@ 2
" @150 % ¢ 20 & 1
RYUIFLUEHRRT ®25 m 20
" ¢ 20 m 15
RUIFLUE#HFT @25 A 10
" ®20 A 5
EHR— m 2.0 2.0m#ER(1.0m x 144, 0.5m x 244)




FHE

No.2
RIRE e g By | %= | EEH=2 & &
PPE ¢ 30, ¢25 [[RUTFLUEHRT ® 30 m 50.0
BEKEMZT " @25 m 160.3 159.8+0.5
E-—ILEHHKXT @25 m 33 1.0+1.0+0.5+0.6+0.2
RUIFLUEMFT ® 30 A 2
" ¢ 25 A 4
MENOREERLAHES ® 20 A 1
TSH#FET ®25 A 7
" 20 A 1
EHRY— m 2133 2.0+50.0+159.8+1.5
HUAREIT 025 [TV FHRETL 25 = 2
MENOREERLAHES ® 25 A 4
RUIFLUEMFT ® 25 A 4
REFET H=800 #H 2
BERE L5 2
HwAKOET RUIFLUERHZT @25 m 10
RUIFLUEMFT ® 25 A 5
EHRY— m 05 0.5m#E% (0.5m x 144)




T I % & X No.1
£ L7 WO W B 51 = REtH=E
HPPE ¢ 150 i ¥ 0.90 X 1.040 X 101.0 = 9454 m3
¢ _ MR ERIE T H=800 Ifﬁﬁ@ m m m m
FR/KEMRT ErE® 060 m X 1040 m X 664 m = 4143 m3
A&t = 13597 m3 140
o _ rE@ 090 m X 0380 m X 1010 m = 3454 m3
HBRLI TR
B ¥mE® 060 m X 0380 m X 664 m = 15.14 m3
=X = 4968 m3 50
o ¥mE@ 090 m X 0490 m X 1010 m = 4454 m3
HHIERLT FET
rE® 060 m X 0490 m X 664 m = 19.52 m3
A&t = 6406 m3 60
BT AET = 6479 m3 60
t=10cm RC-30 (WrE@) 090 m X 101.0 m = 90.90 m2
= T
THEERE t=10cm | RC-30(KFE®) 060 m X 66.4 m = 39.84 m2
A&t = 130.74 m?2 131
t=8cm M-30 (B E @) 090 m X 1010 m = 90.90 m2
= T
Bl t=8cm M-30 (K E®) 060 m X 66.4 m = 3984 m2
=X = 130.74 m2 131
(RASSREE T t=3cm %ﬁ%l:ﬁ(%ﬁﬁ@) 090 m X 1010 m = 90.90 m2
t=3cm [HHE(BTE®) 060 m X 66.4 m = 39.84 m2
A&t = 130.74 m?2 131
AEIHASESHE T (BWMET t=4cm |FH(BTE®) 110 m X 101.0 m = 11110 m2 111
AREIHASHET (NAET t=4cm  |ZHL(EE®O) 080 m X 66.4 m = 53.12 m2 53
XMFTE@L=640m 35T |AsEHiEFRYIMT T t=4cm 1674 m X 4 % 64.00 = 605.60 m 606
t=4cm @ 110 m X 1010 m = 111.10 m2
AsEhEE RS T
AR t=4cm e e) 080 m X 664 m = 5312 m2
A&t = 164.22 m2 164
t=3cm ¥E® 090 m X 1010 m = 90.90 m2
Astfist BT
(RAsERE= AR t=3cm ¥ E® 060 m x 664 m - 39.84 m2
=X = 130.74 m2 131
AsERETHERR -5 T = 1049 m3 10




T I % & X No.2

£ Lo BO% ! 3 = B
PP ¢ 30, ¢ 25 MrE@ 060 m X 0.692 m 520 m = 2159 m3
BoKEMETL B PRYE T H=600 Tl 060 m X 0684 m 341 m = 1399 m3
#ER 060 m X 0.694 m 257 m = 10.70 m3

&t = 4629 m3 50
¥rE@ 060 m X 0242 m 520 m = 755 m3
HWERLT TSR HrEQ 060 m X 0234 m 341 m = 479 m3
#ER 060 m X 0234 m 257 m = 361 m3

= = 1595 m3 20
B 060 m X 0.150 m 520 m = 468 m3
HWERLT HE+ v @) 060 m X 0.150 m 341 m = 307 m3
#ER 060 m X 0290 m 257 m = 447 m3

= = 1222 m3 10

R AT = 3271 m3 30

t=15cm |Ro-40(ED.@) 060 m X 86.1 m = 51.66 m2 52

THERET t=10cm RC-30 (KE®) 060 m X 257 m = 1542 m2 15

FEaRT t=17cm M-4o<sfriﬁ®,®> 060 m X 86.1 m = 51.66 m?2 52

t=8cm M-30 (KR E®)) 060 m X 257 m = 1542 m?2 15

RAsEHZET t=3cm FRHI 060 m X 1118 m = 67.08 m2 67

, g+ t=5cm Zh(EO.Q) 080 m X 86.1 m = 68.88 m2 69

AR BATIET (AT t=4cm  |FEH(FTEQ) 080 m X 257 m = 2056 m?2 21
A SELE AR B T t=5cm #E®,@ 861 m X 3 % = 25830 m
t=4cm BrE® 257 m X 4 % = 10280 m

=11 = 361.10 m 361

AT AR R R T t=5cm HED,@ 080 m X 86.1 m = 68.88 m?2 69

t=4cm Hv{©) 080 m X 257 m = 2056 m?2 21

R AsEH = IR BE R T t=3cm 060 m X 1118 m = 67.08 m?2 67

AsTHE L IER - 05 T = 6.28 m3 6

SR W=15cm |62.0+89.0 = 151.00 m 151

RE#RT {Z1L#R. #M#T| W=45cm [1.0+4.0 = 500 m 5

B R W=15cm [1.0%x5 = 500 m 5




T T #h 2 X No.3

£ L % #H B 3l = RETHE

HPPE ¢ 150 MR YE T H=800 060 m X 0.894 m 20 m = 1.07 m3 1
HKEMBZL BERLT VSR 060 m X 0234 m 20 m = 028 m3 0.3
HEERLT H=800 060 m X 0490 m 20 m = 059 m3 0.6

RIaET = 042 m3 0.4

TERET t=10cm RC-30 060 m X 20 m = 120 m?2 1

EERET t=8cm M-30 060 m X 20 m = 120 m2 1

RAsEHZET t=3cm FEHL 060 m X 20 m = 120 m2 1

AEIBAsTHET (ANETL] t=4cm L 080 m X 20 m = 160 m2 2

AsERZEhR IR T t=4cm 200 m X 4 % = 800 m 8

AsTHEERRBER: T t=4cm 080 m X 20 m = 160 m2 2

R AsEHZE IR T t=3cm 060 m X 20 m = 120 m2 1

AsTHEFER -0 5H T = 0.10 m3 0.1

PPE ¢ 30, ¢25 W RIET H=800 060 m X 0.894 m 05 m = 027 m3 0.3
HRKEMET BEWIERLT VSR 060 m X 0234 m 05 m 0.07 m3 0.1
HERLT H=800 060 m X 0490 m 05 m = 0.15 m3 0.2

HLET = 010 m3 0.1

TERET t=10cm RC-30 060 m X 05 m 030 m?2 0.3

LERET t=8cm M-30 060 m X 05 m = 0.30 m2 0.3

RAsEHZET t=3cm FEHL 060 m X 05 m = 030 m?2 0.3

AEIBAsTHET (ANEI] t=4cm R 080 m X 05 m 040 m?2 0.4

AsERZEhR IR T t=4cm 050 m X 4 % = 200 m 2

AsERZEhRBERE T t=4cm 080 m X 05 m = 040 m?2 0.4

RAsEHZE IR T t=3cm 060 m X 05 m 030 m?2 0.3

AsTHEFLER - 057 T 0.03 m3 0.1




»150 HPPE fd /K % U] %% # B hE B\

PEE  (m) DIHANT]
P P VA == %=d *I e
B omm %R |0 ERE " AR (m) SO =
VAR - I =
5]
-1 Z.-1 ) Z,-3 Z—4 (O ®) (1)
HPPE 150 5. 000 3. 400 0. 700 0. 700 4. 800 0. 200 3 1
(=g
HPPE 150 5. 000 2. 700 2.700 2.300 1 HPPE
B = 150
Z oy
%
Z-1 -2 -3 4 Z.-5 HhE| 5.000
HPPE 150 5. 000 3. 500 3. 500 1. 500 1
HPPE 150 5. 000 5. 000 5. 000
7 20. 000 14. 600 0. 700 0. 700 16. 000 4. 000 5

20. 000 14. 600 0.700 0.700 16. 000 4. 000 5




» 150 HiVP @Al K & 55 B - nE B
PEE  (m) DIHANT]
ol e . % (m) Bk T SR
B E M Br | O ERE s ) i %
-1 Z.-1 ) Z,-3 Z.—4 (OO (A)
1
EFE
HiVP
Z oy
-1 42 4.-3 L4 45 E= 150
HiVP 150 4. 000 0.700 0. 700 1. 400 2.600
HohE| 4.000
B 4. 000 0.700 0. 700 1. 400 2.600
4. 000 0.700 0. 700 1. 400 2.600




$25 HiVP Jid /K & 4] & Bind Aol B - LA
%R (m) DB
por. por. A P : M b :l: Ay
®E OBH | W R|OERE " AR (m) 2 W =
VAR v I =
Z.-1 7.2 Z.-3 Z.—4 Z.-5 (O ®) (A)
1 HiVP 25 4. 000 1. 000 1. 000 0. 500 0. 600 0. 200 3. 300 0. 700 1
R
HiVP
E= 25
HohE| 4.000
3 4. 000 1. 000 1. 000 0. 500 0. 600 0. 200 3. 300 0. 700
4.000 1. 000 1. 000 0. 500 0. 600 0. 200 3. 300 0. 700




